
liczby naturalne

działania

Poziom trudności: Średni

1. 134-89=

A - 89

B - 45

C - 55

D - 48

2. 566+498=

A - 1064

B - 1046

C - 1056

D - 1047

3. 999-929=

A - 60

B - 80

C - 70

4. 50:2+(8+79)=

A - 212

B - 122

C - 112

D - 109

5. 1556+8556=

A - 10112

B - 1046

C - 11112

D - 10212
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6. 5464-2344=

A - 2120

B - 120

C - 4120

D - 3120

7. 4132+1342=

A - 4555

B - 5474

C - 5471

D - 5477

8. 1+1-1:1+5-5:1=

A - 1

B - 2

C - 3
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liczby naturalne

działania

Poziom trudności: Średni

Karta odpowiedzi

1. B

2. A

3. C

4. C

5. A

6. D

7. B

8. A

Copyright © 1995-2024 Wirtualna Polska


